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(g.’),- 20) dx dz
In view of Eq. (4.3-29), the above conditions are equivalent to
d2w d2w

The boundary conditions in Eq. (4.3.34b) lead to the result cg = c3 = c4 = 0, and for c¢; # 0 the
requirement

sin A\a = 0 implies Aa =nmw (4.3.35)
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Substituting for A from Eq. (4-3-3%) into Eq. (4.3.33) for N2, we obtain
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The critical buckling load is given by the minimum (n = 1)
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6.3.4 Vibration

vl Cs"/‘)(j;;(//‘/J/L M f'J“* > e— v 5o\ sl
/ .- .-
'—[// b P ol C)pe L=
2117
KGY_bh (‘ZV; + ‘fi—x> +PIoW =0 (6.3-25 &)
P - FsoT G o) X =8,
Eizfyyd ; — KG. bh(ﬁ; X) +wihX =0 (EIRE=25 Ly u-o+2x

el ), 2C O/jo’ {"(_’"J;)/k

KGZzbh% — oW - KG® bhddv;/ ( 6.3-26)

4 b 7 R 2 27 )
o ELI dW+<EIzlyy10+12)w2d _(1_004[2)[0“}2“/:0 .z 22

TEYY g KG?b_bh da? KG?Y_bh
- L
d4W d*w i .
Pt gz ~TW = (6-3-28)

where

Eb I ) - w21 .
p=Fehy 0= (A’&?h+ )Iowz’ T:<l—m>%w2 (-3-29



Sy mlirc e Soedile ok —lm

W ()= C| Sin M« Cl%)#_\—% Sih‘\(/"‘?().l— be Soh (M) ( 6.2_20)

)= \/ETF (7.+,{7.z+q/9r 5 /“; @F—(—fﬁ/}fﬁtﬂ’ (6.3-21)

e -
) s
(2N P-p% ghapr o pAlarire (6.3.72)
b g 6328 16380 iz, T
p:ﬁ, Q= 1+<If;ffh+§—z>v] R:(%jﬂ/)v (4.3 32

‘ c,h-—'LG S Al C{'g’/.,‘-’l-z”':“’)IJ

@i = g (@~ V@ —4PR), (= o (@ + /@7 —aPR) (6.3-35)



A s 2 . —
bl Lo o s R (a2l @-4PRye L0 RS )

~— P _
2 (Peo ) B2t S 0o dCh L (I

w*: R az[l,u(il’h’))‘}, Rz (i’*ﬁ_{jﬁ

- =)
Q k6 Pbh
" Lo (6-3-34)
()—"r‘u’;)/j J‘—’;
(()]>) CL: C.3: Cq: s J/.—\:"//U U/J" :L,_l)?,/'/o) L:_//L

. L . nmw
¢y sin Aa = 0, which implies A, = —
a

55 (6-3-35) 5 < bl S (6.3-360 > b0t
/ 7 —

W = (E)z Egllyy 1-— (1211)2E:I;J:IUII
" a j(] Kcr}zbh+ (%)QE’l)lIyy




.4 Cylindrical Bending Using CLPT
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